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PAPER -1
Note : This paper consists of Fifty (50) objective type questions of Two (2) marks each. All
questions are compulsory. 50 Q x 2 M = 100 Marks
1.  Which of the following set of statements best represents the nature and objective of teaching

and learning ?
a) Teaching is like selling and learning is like buying.
b) Teaching is a social act while learning is a personal act.

(

(

(c) Teaching implies learning whereas learning does not imply teaching.

(d) Teaching is a kind of delivery of knowledge while learning is like receiving it.
(

e) Teaching is an interaction and is triadic in nature whereas learning is an active
engagement in a subject domain.

Code :
(1) (a) (d) and (e) (2)  (b), () and (e)
(3) (a) (b) and () 4)  (a) (b) and (d)

2.  From the list given below identify the learner characteristics which would facilitate teaching-
learning system to become effective. Choose the correct code to indicate your answer.
(a) Prior experience of learner (b) Learner’s family lineage
(c) Aptitude of the learner (d) Learner’s stage of development
(e) Learner’s food habits and hobbies (f)  Learner’s religious affiliation
Code :

(1) (@), (c) and (d) (2)  (d), (e) and ()
(3) (a) (d) and () 4)  (b), (¢) and ()

3.  Assertion (A) : All teaching implies learning.
Reason (R) : Learning to be useful must be derived from teaching.
Choose the correct answer from the following :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.

oo [ IRRRHMATRNIACAN

N

hitps://www.freshersnoycom/praouspyeac-gNasNo BRI now.com/previous-year-question-papers/



WT-Ua -1

e U U H Ue (50) 8- fashedid U9 €1 U U % 9 (2) 3 €1 |l we 3ifremd €
50 U9 x 2 3k = 100 Ak

1. frafafed woel & ag=a § 9 FE-T1 freor R s & yahfa 1@ 29T &1 gaias ®9 5 gwqh
AT B ?

(a) Toreqor forsra & TAM § TR ST TORRT & S )

(b) Toreror wmfee Fea & Safew sifrm SAfaaa Fo T

(c) Toreror # siferm fafeq ® srafer stferm foraor =1 wfea = shwan|
(d) T T YRR A1 JHE H SFW T SEfh SAH T UG F S S
(e) Toreror wa o1=a:foran € iR wapfa ® ot ® safer stferm we foma & =i wfsha v 1

T:(@':
(1) (a), (d) ¥R () 2) (), () 3 (e)
3) (), (b) &R (c) 4)  (a), (b) 3R (d)

2. =S E gt A 9 fanef & 37 st @i fafed S S Reor-stfus gonedt S gl e |
TEh T 379 I I AT LA o fIT T e 1 =37 & |

(a) Tomnefl =1 g6 sTgva (b) Toremeff 1 wRETRe J9 o
(c) Tommeff =1 stfyrerman (d) fornefl = forehrd =t srereen
(e) foemeff & @M =t oTed SR Wk (f) ot =t enfifer wwarga
<
1) @), (© W@ 2 (), (o) 3R (f)
(3) (@) () ¥R (e) 4)  (b), () 3 (f)
3. fueRed (A): |t foreror 7 siferm fafeq S 7
e (R) T 1 ST B o fou 38 STaverss 9 9 e ¥ geas 91 et |
frefafed 5 9 W&t ST & =999 &Y

(1) (A) 3R (R) I T&I € 3R (R), (A) 1 HE TR T |

2) (A) 3R (R) TH W& E, AR (R), (A) 1 TEl TR0 &l € |
3) (A) W& R, AfFA (R) TTerd T

(4) (A) 7@ 8, @R (R) TR S
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4, On the basis of summative tests, a teacher is interpreting his/her students, performance in
terms of their wellness life style evident in behaviour. This will be called :
(1) Formative testing (2) Continuous and comprehensive evaluation
(3) Norm - referenced testing (4)  Criterion - referenced testing

5.  Which one of the following is a key behaviour in effective teaching ?

(1) Using student ideas and contribution

(2) Structuring
(38) Instructional variety
(4) Questioning
6.  Which of the following research types focuses on ameliorating the prevailing situations ?
(1) Fundamental Research (2) Applied Research
(3) Action Research (4) Experimental Research
7. A researcher attempts to evaluate the effect of method of feeding on anxiety - proneness of
children. Which method of research would be appropriate for this ?
(1) Case study method (2) Experimental method
(3) Ex-post-facto method (4) Survey method
8.  In which of the following arrangements a wider spectrum of ideas and issues may be made
possible ?
(I) Research Article (2) Workshop mode
(3) Conference (4) Symposium
9. Infinalizing a thesis writing format which of the following would form part of supplementary
pages ?
(1) List of tables and figures (2) Table of contents
(38) Conclusions of the study (4) Bibliography and Appendices

10. Which of the following is susceptible to the issue of research ethics ?
(1) Inaccurate application of statistical techniques
(2) Faulty research design
(8) Choice of sampling techniques
(4)

Reporting of research findings

oo [ IRRRHMATRNIACAN
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4. HhoHIcHS TN o STHR T Tk fereh 319 foenff=i o feared sqaer o1 394 Afyyegea gited
St et o HeH T SAREATId a1 § | 9 HaT S

(1) i Tdem (2) Hdd Ts AU oIk
(3) WMk Gefa adiemn 4) Trew Hefia wham

5. frafafeaa & @ oe gt feon § yge =eer § 2
(1) fornefl & fo=mi wa ste—E 1 S

(2) G
(3) SAIeAHe fafawar
ORI Call

6. Trafafed # @ vy & e R # Hie feafadl § goR W oA Sid o s § 2
(1) Hifaes oy (2) HERd WY
(3) forarm® Wy (4) YT WY

7. U SNEhdl oot i A - SRgEd W 9ot faf & g 1 Siher S 1 YA HIAT B 1 i
ot wry-fafy g9 fau suge e ?

1) =fe serE dgia (2) 9EfiTR Tghd
(3) HERR IS (4) T ggd

8. frAfafed # & form =aen # foami iR W& 1 =AmUs & (THFgH) i GHG @1 ST Hohel © 7
(1) g E (2) HERIE Ygfd
(3) THEHeH (4) wt

9. T MY YOY WG Hre 1 AfoH €9 7 § Fafafed § § -9 Wh-gi &1 TR o4 ?
(1) R iR kel &t gt 2) fowg-wrei
(3) A=EA & fyed (4) Tu-YeR iR ufifere

10. freafafea § @ wE-a1 e Afdewd 1 gy 2 gl § 2
(1) WIS qhAlehi 1 ST STTHAM
) T T TG HT YO B

(2
(3) T el 1 fashey
(4)

oy frsRut sl U s
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Read the passage carefully and answer question numbers from 11 to 15.

Climate change is considered to be one of the most serious threats to sustainable development,
with adverse impacts on the environment, human health, food security, economic activity, natural
resources and physical infrastructure. Global climate varies naturally. According to the Inter-
governmental Panel on Climate Change (IPCC), the effects of climate change have already been
observed, and scientific findings indicate that precautionary and prompt action is necessary.
Vulnerability to climate change is not just a function of geography or dependence on natural
resources; it also has social, economic and political dimensions which influence how climate change
affects different groups. Poor people rarely have insurance to cover loss of property due to natural
calamities i.e. drought, floods, super cyclones etc. The poor communities are already struggling to
cope with the existing challenges of poverty and climate variability and climate change could push
many beyond their ability to cope or even survive. It is vital that these communities are helped to
adapt to the changing dynamics of nature. Adaptation is a process through which societies make
themselves better able to cope with an uncertain future. Adapting to climate change entails taking
the right measures to reduce the negative effects of climate change (or exploit the positive ones) by
making the appropriate adjustments and changes. These range from technological options such
as increased sea defences or flood - proof houses on stilts to behavioural change at the individual
level, such as reducing water use in times of drought. Other strategies include early warning
systems for extreme events, better water management, improved risk management, various
insurance options and biodiversity conservation. Because of the speed at which climate change is
happening due to global temperature rise, it is urgent that the vulnerability of developing countries
to climate change is reduced and their capacity to adapt is increased and national adaptation
plans are implemented. Adapting to climate change will entail adjustments and changes at every
level from community to national and international. Communities must build their resilience,
including adopting appropriate technologies while making the most of traditional knowledge,
and diversifying their livelihoods to cope with current and future climate stress. Local coping
strategies and knowledge need to be used in synergy with government and local interventions.
The need of adaptation interventions depends on national circumstances. There is a large body of
knowledge and experience within local communities on coping with climatic variability and extreme
weather events. Local communities have always aimed to adapt to variations in their climate. To
do so, they have made preparations based on their resources and their knowledge accumulated
through experience of past weather patterns. This includes times when they have also been forced
to react to and recover from extreme events, such as floods, drought and hurricanes. Local coping
strategies are an important element of planning for adaptation. Climate change is leading
communities to experience climatic extremes more frequently, as well as new climate conditions
and extremes. Traditional knowledge can help to provide efficient, appropriate and time - tested
ways of advising and enabling adaptation to climate change in communities who are feeling the

effects of climate changes due to global warming,.
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TEITYT ehl &9 | U 3T U9 W&Ar 11 | 15 hT SAT e |

STetag, aRard 1 TR TR w1 Haifess TR Saw W S €1 SEeRT TAieRT, e TR,
TrE e, e nifafafy, Trenfae derer o IR ¥ifde sasEr W Ufied yvE 9ed ¢ | dfveas sieery
e Y IRaEfad gl Wl § | Serary qRerdd et A sl Fad ohid arel Sehrl Iet (3TE. 9.5, )
% STHR STetarg URed= & Gl bl uget 2 Uferd foman S e € IR Safes fehd o1g g € o wrashan
AR ferrgdes wRATE fohan ST STewe €1 Sierary uiede o Ui e fad opie & 78 2 § stean
T yrrfae daredl W & fR 72 § afeesr Storary afteds & amfsens, onféie siR Teifaes omem ot €
S 39 91 I g R ¢ foh foRe WepR & Seraryg aftenda fafis el o6t weifaa & €1 fAe safaa
% Y WThqe STTIRIeTl S8 @, 918, Hershald S7IfG o IR0 i i gHare &fd i gfid w & fag
IR & WA B g | e e @ e o) Soery a5ed i faree ghitadl 9 T8 8 59 W@ § iR
STeTer] URede o HRT ST o foTe ST S SR F7T d o 319 sificd s iyt & S| 9
TEqUl ¥ foh Uehfd o S<erd STl o WY WHSA S8 H g WYl Sl WeEdl i S 91feu | SThe
e vfshan ¢ ek wreem | g siffvea afas & 9 9o foem § S99 il Jed & 9 Wty S
T Sorarg gRad % |1 SR & ded Sy FEee iR IRade s % Aiead 9 Soer uikedd &
TRRIHS JHTE] ] FHH FH (FhRIcHE THTET Skl HES 33M) & fow Tl U fovw Sd €1 39 Su |
UreifiTenta forehed ae: Jel g3 ol GRal 1o foqell T a1g - afd =X 9 Teht AR TR TR S8R
TR S Y@k T H 9T R RH TAN A B 1 ST WG SR Sl o faw g et
U, e S YeEH, 3o Site gee, fafis s fosen iR Sto-fafaya Hem afmfead 81 dfves
T g o RO 9 i § Forary # IRedd 81 W1 8 I8 STewdeh 8l Sl ¢ foh Sieeng giadd & gfd
forsprerelicr <ot <t St 1 W foRaT ST TR STehT STIRCH &A1 Sl SR ST 2T UL STHeH =ifqal
FHifead i ST | Serarg, URad & Ufd STee T ¥ UL IR IRig gt il ® amHee iR
TRl T AT Hl &1 S SR 9fTs % Sodg % 91 g faer ¥ 9HeEl Sl S0 et
IRARE FH HT START A IR TU ATsiifasht o fafasfieor & we-wy aqfead denfifea &1 o
gfgd STOt T3l SAMT =1feT | TR SR T gXaadl o |1 drerd faei gy |mste faem e
T T SR T T FANT fofan <1 =ife | STsher el ey T ufifeerfaet w et a1
STTaT] Gaiet eerel ST SRy HH eIl % 1Y grHee foaem & Geie § T SHerEl % e g8d 9
3R STvE ¥ | TIT TSR T THI ¥ 3RYF AU Sorary URadHl o WY drerdel TS W@ ¥ 1 T A
% fore 3= fonma & Higet Tt & o799 STYE % SMUR R 9+ T 3ik Giad I & T8y danfar
HI T THH 3 T off WihA 1§ § 99 3% o6, @ SR ThH Sl == W geA1sil § gfafsean e $ik
STE SRAT ISl &1 WS foaem Y g WHIfqEl Sged & Faee | meeyul o WE | ey
TR i a5 W FHEE! Sl IR-aR = serary fefasi aen 78 Serary feafadi oi) = fearfaai o1 amn
FHAI IS @1 8 | IREReh JH H 3 WG &l Sl Jfydeh 199 i aie ¥ Serary qRed & THE ol 7™
FR T €, STy I & 91 g foem aon $ve, agfud iR guafag SuE ged | wemE faentt |
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11. Given below are the factors of vulnerability of poor people to climate change. Select the code
that contains the correct answer.

(a
(b

)  Their dependence on natural resources
)  Geographical attributes
(c) Lack of financial resources

(d) Lack of traditional knowledge

Code :
(1) (a), (b) and (c) (2)  (b), (¢) and (d)
3) (a), (b), (c) and (d) (4)  (c) only

12. Adaptation as a process enables societies to cope with :
(a) An uncertain future
(b) Adjustments and changes
(c) Negative impact of climate change
(d) Positive impact of climate change
Select the most appropriate answer from the following code :
(1) (@), (), (©) and (d) (2) () and ()
(3) () (0 and (d) () (9 only

13. To address the challenge of climate change, developing countries urgently require :
(1) Imposition of climate change tax
(2) Implementation of national adaptation policy at their level
(3) Adoption of short-term plans
(4) Adoption of technological solutions
14. The traditional knowledge should be used through :
(1) Its dissemination
(2) Improvement in national circumstances
(3) Synergy between government and local interventions
(4)

Modern technology
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11. = ey uRad & gfa e safeaei st dear & &R for T e 98 W ol %e 1 99T
(a) TeRfdeRr FETEAT T et FiRar
(b)  siifers RO
(c) forita damemi =0t et
(d) URURER A T A9

EE:
1) (@), (b) 3R () 2)  (b), (c) ¥R (d)
3) (@), (), () R (d) (4) Ta% (o)

12. STIHo T Uishal o &9 § A ol fFefafed § 9 feas @1y gwsw foer § aad a9 82
(a) A= dfors
(b) HHSH SR gREr=
(c) Sicremy REd 1 THRIHE FHIE
(d) SoEary qRer S FHRIcHS GHE
frefafad she o 9 Faifis ST S I =aT h
1) (@), () () ¥R (@) 2 (a) 3R (9)
@) () (@ R (d) 4 & (9

13. Sorarg UReda st gH 9 fued & fou fasmeier <o o1 rcameavas w9 9 fr=fafe § 9
HT HY T 7 2

(1) Serayg e Y Sl

(2) 3T W W TG STherd HIfd ol hrt-ea
(3) AUy ST STOHI
(4)

YRR THEE 37991

2

4

14. URMRS JE H 3TN FHEAfafEd § 9 feas arem 9 fean S =nfen ?
(1) 35%h TEN-TER g
(2) T aRfEfdEl 5 gur g
(3) R R T TEaal o o= daremd 9
(4) ey g R
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15. The main focus of the passage is on :
(1) Combining traditional knowledge with appropriate technology
(2) Co-ordination between regional and national efforts

(3) Adaptation to climate change

(4) Social dimensions of climate change

16. The interaction between a teacher and students creates a zone of proximal :

(1) Difference (2) Confusion

(3) Development (4) Distortion

17. The spatial audio reproduction in a classroom can reduce the students’ :
(1) Cognitive load in understanding
(2) Respect for the teacher
(3) Motivation for excellence
(4) Interest in technology - orientation

18. The classroom communication should essentially be :

(1) Contrived (2) Empathetic (3) Abstract (4) Non-descriptive
19. A good communicator begins his/her presentation with a :
(1) Complex question (2) Non-sequitur

(3) Repetitive phrase (4) Ice-breaker

20. In a classroom, the probability of message reception can be enhanced by :

(1) Establishing a viewpoint

(2) Exposing the ignorance of students

(3) Increasing the information load

(4) Using high decibel audio tools
21. In the series 1, 6, 15, 28, 45, ............ the next term will be :

(1) 66 (2 76 (3) 56 4) 84
woo [[[HMINMINNNAN =
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15. 39 TS H1 Hh(wh (95 ©
(1) URURE I 1 T SRt & e S

(2) & SR U T & Se 9
(3) Soreng ufterdd % gfd ST
(4) ey 9RE o AT ST
16. fonerw iR faenfofi o sfie ER Garg Hivwy ST 1 Ffor e B
1) &HX (2) vH
(3) forprw 4) fopfa

17. st e & Tenfeh g G W& i owig 9 faenfeli o1 frefafead 8 & 9o w2 qear &/ 9 ¢ 2
(1) =Y § HJEHR 9
(2) Tl o6 fa T

(3) It % gfd I

(4) SNt - sAfufo=me o w4

18. el ¥ Hare e ®9 ¥ B =1feT
(1) et (2) IR (3) o (4) R-foerRonerh

19. U U9 FHYSH U Tecioheol fefefad & 9 fhad I& o € 2
(1) Sfed 9o (2) Al
(3) I weEy (4) g

20. TRd Fen § Hag TR &t HHEd & FAfafad § 9 fha SR S dehdr § 2
(1) gt wenfad &tk

(2) fomnfe=i st ARl IR e
(3) I YR ¥ gfg Fh
(4) T SfHdA F gA IR I FAN Hh

21. S@e 1, 6,15, 28, 45, .......... B STl & Bl
66 2) 76 3) 56 (4) 84

1) 2)
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22. The next term in the series ABD, DGK, HMS, MTSB, .......... is :
(1) NSA (2) SBL (3) PSK (4) RUH

23. In certain code, “COVALENT” is coded as BWPDUOFM. The code of “ELEPHANT” will

be :
(1) MFUIQRTW (2) QMUBIADH
(3) QFMFUOBI (4) EPHNTEAS

24. Ajay is a friend of Rakesh. Pointing to an old man Ajay asked Rakesh who is he ? Rakesh
said “His son is my son’s uncle”. The old man is related to Rakesh as :

(1) Grandfather (2) Father-in-law
(3) Father (4) Uncle

25. A postman walked 20 m straight from his office, turned right and walked 10 m. After
turning left he walked 10 m and after turning right walked 20 m. He again turned right and
walked 70 m. How far he is from his office ?

(1) 50 m. 2) 40 m. (3) 60 m. (4) 20 m.

26. It is Truism to say that no one was there when life first appeared on earth. Any assertion
about life’s origin, thus, should be treated as a theory.

The above two statements constitute :
(1) A historical explanation (2) A narrative
(3) An argument (4) A conjecture

27. Given below are four statements. Among them two are related in such a way that they can both
be true but they cannot both be false. Select the code that indicates those two statements :

Statements :

(a) Honest people never suffer.

(b)  Almost all honest people do suffer.

(c) Honest people hardly suffer.

(d) Each and every honest person suffers.

Code :

(1) @and() (2 @and(© (3 @and(d) (@) (b and ()
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22. s@al ABD, DGK, HMS, MTSB, .......... T SN IS T
(1) NSA (2) SBL 3) PSK (4) RUH

23. &t %2 H “COVALENT” % % BWPDUOFM ®1 “ELEPHANT” T %< BT :
(1) MFUIQRTW (2) QMUBIADH
(3) QFMFUOBI (4) EPHNTEAS

24. 35, VRV I GG T | Teh 7T STEH! ot TR TN A g T A THY I 1 foh 98 o § 2
TR Hel ' IHHT A2, WA FH A= g1 g Ao 3R TR o e FrAfafed fear g

(1) UEHIST (=e) (2) HR-A-4l (YY)
(3) e (foar ) (4) 3fha (=T=)

25. T SRl 319 e 9§ T 20 WX ew, STU et SR e 10 HeX 9a | et 31k ged &
TS 9% 10 HieX Fel iR et 3R qed & 915 20 HieX 9al | 38 i | Sifet 3IR He1 iR 70 Hiex
Tl | I T e ¥ forat g W R ?

(1) 50 Hi&X (2) 40 HiX (3) 60 HiX (4) 20 HX

26. I8 el Uk WM G § o S gedt W qduem Siaq o1 Sgd 3T a6 98l 18 6l o | 39 Y,
Site <k 3g9d o HaY § fordl ot sifiehed o1 fagid AT ST =i |

St SHT e faftdd €
(1) Tk Ufcreiiaes =ame 2) TH A
(3) Wk Th (4) TH 3ehd

27. 9 9R ®eH fRu MU E ) T 9 o9 | 39 i U Heftd € o 3 S T € gk € WReg o S
3T 7S Bl Hehdl | 39 e BT AT L S S Q1 HUAT bl ST HIAT §

a) SAMGR =Afa it e T e 2 |

(
(b) TN G SRR AT F FeAd & |
(
(

c) THMGR AfH WHE & F e ¢ |

d) IS THMGR AR H Fordl ¢ |

(a) R (b) ) (a) 3 (o) (3) (a) ¥R (d) (4)  (b) 3R (o)

I -

(

1)
oo [
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28. A deductive argument is invalid if :
(1) Its premises and conclusion are all true.
(2) Its premises and conclusion are all false.
(3) Its premises are all false but its conclusion is true.

(4) Its premises are all true but its conclusion is false.

29. Given below are two premises (a and b). From those two premises four conclusions (i), (ii),
(iii) and (iv) are drawn. Select the code that states the conclusion/conclusions drawn validly
(taking the premises singularly or jointly).

Premises : (a) All bats are mammals.
(b) No birds are bats.
Conclusions : (i) No birds are mammals.
(i) Some birds are not mammals.
(iii) No bats are birds.

(iv) All mammals are bats.

Code :
(1) (@) only (2) (i) and (ii) only
(3)  (iii) only (4) (iii) and (iv) only

30. Just as melting ice - cubes do not cause a glass of water to overflow, melting sea - ice does not
increase oceanic volume.

What type of argument is it ?

(1) Analogical (2) Hypothetical
(3)  Psychological (4) Statistical
woo [ {INTANNOD A+
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28. Teh fHAHS: o 39T § Afe .
(1) 39 SMER 1R 3R Fremed |ft ot &
SHh YR I TR Ty gt et & |

(2)
(3) TTHh Gt SMHR AT TTeTd B W) SHhT F5hY Tl 2 |
(4)

4) THE Wl YN a1 el B T 3R =Y TTerd © |

29. I T YR TR (a 3R b) feU T § | 37 < 3R et § =R fed (i), (i), (i) 3TN (iv) Femel TQ
T 1 39 e 1 99 L S YHIreh ©Y H Rl T (STHR SR 1 STohel T4 HYe €9 9 ofd gU)
et / fremef o1 geTtan § |

MR A :  (a) W TGS WU Bd & |

(b) IS oft Yeft =HCS & B |
frrend (i) RIS Ualt TR T S T |
(i) TS Tal TR T e ¥
(iii) TS THMEES el T S ¥ |
(iv) Tt SR TS B R
%e :
(1) e (i) (2) 9 (i) W (i)
(3) Hae (iii) (4) HIA (iii) 3R (iv)

30. <9 firema § 9% & freerd Mol 9 ferd o1 ot Se SR el agdl $H YR frserd ge agE
feqeie § 9Yg 1 T T edl 2

Ig fre=fafad § 9 79 YR &1 ek © ?

(1) HIRIqeTh (2) AREReTITHS
(3) HArA 4) wifesE
oo [N AU i
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Answer the questions 31 to 35 based on the data given in the table below.

Table : Number of registered vehicles in India and India’s population.

Total Two Cars, Jeeps, Goods Population
. . Buses . Others .
Year | vehicles wheelers Taxis (Lakhs) vehicles (Lakhs) (India)
akhs akhs
(Lakhs) (Lakhs) (Lakhs) (Lakhs) (Millions)
1961 6.65 0.88 3.1 0.57 1.68 0.42 439.23
1971 18.65 5.76 6.82 0.94 3.43 1.70 548.15
1981 53.91 26.18 11.60 1.62 5.54 8.97 683.32
1991 213.74 142.00 29.54 3.31 13.56 25.33 846.42
2001 549.91 385.56 70.58 6.34 29.48 57.95 1028.73
2011 1417.58 1018.65 191.23 16.04 70.64 121.02 1210.19
31. The maximum decadal growth in population of India is registered in the period :

(1) 1961 -1971  (2) 1991 -2001  (3) 2001 -2011  (4) 1981 - 1991

32. In which year the decadal growth (%) in number of cars surpassed that of the two
wheelers ?
(1) 1991 (2) 2001 (3) 1981 (4) 2011
33. What was the average decadal growth in the number of cars during 1961 - 2011 ?
(1) ~131% (2) ~ 68% @) ~217% 4) ~157%
34. Inthe year 2001, out of total number of vehicles, the number of passenger vehicles (4 wheelers)
accounted for :
(1) ~14% (2) ~24% B) ~31% (4) ~43%
35. What was the per capita ownership of two wheelers in India in the year 2011 ?
(1) ~ 0.084% (2) ~ 0.0084% (3) ~ 0.84% 4) ~ 0.068%
36. What is the name for a webpage address ?
(1) Domain (2) Directory (3)  Protocol (4) URL
oo [[{INTANNOO A+ =
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Frfeafiaa arferent ¥ fou U eifemel o ML W 9 31 9 35 HT ST S |

AT : YR  USHehd aTel sht WEAT 3 U it TAHET

I R gfe aed | &R, S, T | A AR | T | YR %I SHEe
(o) (o) S () | (TE) (o) (o) (fafera)
1961 6.65 0.88 3.1 0.57 1.68 0.42 439.23
1971 | 18.65 5.76 6.82 0.94 3.43 1.70 548.15
1981 | 53.91 26.18 11.60 1.62 5.54 8.97 683.32
1991 | 213.74 142.00 29.54 3.31 13.56 25.33 846.42
2001 | 549.91 385.56 70.58 6.34 29.48 57.95 1028.73
2011 [1417.58 1018.65 191.23 16.04 70.64 121.02 1210.19
31. frfafed & & fra <o % SRM YRd #t sHEen | waifis gig gt &t 18 ?
(1) 1961 - 1971 (2) 1991 - 2001 (3) 2001 - 2011 (4) 1981 - 1991

32. ford o | R Rl G&A1 H g3 SR IfG (%), SUGT ATl shi HEAT H 3 SUHIA Ifg (%) Tl TN T
TE ?

(1)

1991

(2)

2001

(3)

1981

4)

33. o9 1961 - 2011 % SRH HRI FI T&N H ad <vng gig fra w2

(1)

~ 131%

(2)

~ 68%

®)

~ 217%

(4)

2011

~ 157%

34. ¥ 2001 H, IRl i oI G@A | G AR Al (Frafed areAl) i HeAl i giaw 491 o ?

(1)

~ 14%

()

~ 24%

(3)

~ 31%

35. 96 2011 H WRd H gufedn arei o1 id e i fohan o ?

1)

~ 0.084 %

(2)

~ 0.0084 %

36. JA9-Y3 Ud (TSH) & ford s 9 2

(
A-000

SiLE|

(2)
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(3)

~ 0.84%

Trerehicl

4)

(4)

(4)

~ 43%

~ 0.068%
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37. The data storage hierarchy consists of :
(1) Bytes, bits, fields, records, files and databases
(2) Bits, bytes, fields, records, files and databases
(8)  Bits, bytes, records, fields, files and databases
(4) Bits, bytes, fields, files, records and databases
38. Which of the following domains is used for - profit businesses ?
(1) .org (2) .net (3) .edu (4) .com
39. What is the full form of USB as used in computer related activities ?
(1) Ultra Security Block (2)  Universal Security Block
(3)  Universal Serial Bus (4)  United Serial Bus
40. Which of the following represents billion characters ?
(1) Terabytes (2) Megabytes
(8) Kilobytes (4) Gigabytes
41. Which of the following pollutants is the major cause of respiratory diseases ?
(1) Suspended fine particles (2) Nitrogen oxides
(3) Carbon monoxide (4) Volatile organic compounds
42. Assertion (A) : In urban areas, smog episodes occur frequently in winters.
Reason (R) : In winters, a lot of biomass is burnt by people for heating purposes or to
keep themselves warm.
Choose the correct answer from the code given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3)  (A) is true and (R) is false
(4) Both (A) and (R) are false
oo [[{INTANNCD A+ =

https://www.freshersnomgom/prafouseaL-guGsioTrRRRR-Enow.com/previous-year-question-papers/



37. TRI Herv & siftsRd # wnfie ¥ -
(1) ey, faeh, wieew, Reaed, wEd a1 SREyS

2) foew, sy, wieey, Rerey, wEd a1 SREES
3) fozH, ar3ew, Ry, wiegd, wiEd 791 Sy
(4)

foreq, d1Eed, Hiced, HEd, RHEH qo1 SRy

38. frmfafed Sl # fFd ATanyeit =R &g T fohan S € 2

(1) .30 em s 2 TWIAF) (B FTAI(WL) (@) HNTE(FM)

39. T Y HYd HE H YA §g I, TE.S. H G FI R ?
1) e farfe st ) Feda fawfer stw
(@) Fiada HiEd 59 4) TS Hifgd s|

40. frefafed § § SA-91 tF oR/a (fafeem) Fieetd yefia il § 2
(1) vErTE (2) HmeE
(3) foeieTEs (4) TR

41. fr=fafed § & SF-91 YgUF YouT-dF 9 St sHHiEl S TqE R0 S 2
(1) Tfocifaa gaq o (2) EEISH RS
(3) A AMISTHES (4) SToRiE HEfH AR

42, SIRIA (A) : W & H, TS F Al H TR H-hIeX i HeA wfed Bt ¥ |

& (R) ST % Hrag § &t T T F JESE W A= w1 @+ fow at wmn |
Sig-Hefd () S € |
= fIT 7T e H F FE IW H T R

(1) (A) 3 (R) < &l € &R (R), (A) T T A T
2) (A) 3R (R) M TE § WA (R), (A) F T A 7L T
(3) (A) W& & 3R (R) T B

4) (A) 3R (R) S TTerd €1
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[y
O

P.T.O.

hitps://www.freshersnoxycom/pragouspyeac-aNasHo BRI now.com/previous-year-question-papers/



43. Occurrence of natural hazards is affected by :
(a) Land use changes (b) Drainage and construction
() Ozone depletion (d) Climate change
Choose the correct answer from the code given below :
(1) (@), (© and (d) (2) (@), (b)and (©)
(3) (@), (b)and () (4)  (b), () and (d)
44. Which of the following pollutant gases is not produced both naturally and as a result of
industrial activity ?
(1) Chlorofluoro carbons (2) Nitrous oxide
(3) Methane (4) Carbon dioxide
45. Among the following fuels of energy, which is the most environment friendly ?
(1) Ethanol (2) Biogas (3) CNG (4) Hydrogen
46. Which of the following are the goals of higher education in India ?
(a) Access
(b) Equity
(c)  Quality and Excellence
(d) Relevance
(e) Value based education
(f) Compulsory and free education
Select the correct answer from the code given below :
(1) (@), (b) and (¢) only (2) (@), (), (e and (9
() @), 0), © (d and () @ @), 0), © (), (@ and (©
47. Which of the following has been ranked the best college in the country (2017) as per the
National Institutional Ranking Framework (NIRF) ?
(1) Miranda House, Delhi (2) St. Stephen’s College, Delhi
(3) Fergusson College, Pune (4) Maharaja’s College, Mysore
oo [NNTMNIATIRRRRD =
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43. UThfae muerstl & wfeq @ H frefafad w1 gue Tedar @

(a) ofF - ITAM ¥ 9REda (b) < e AR fafo
(c) TSI | (d) Sierary aRedd

= fIT 7T e H 9§ FE IW H T R

() (@) (©) ¥R (d) () (a), (b) 3R (o)
(3) (a), (b) 3R (d) 4) () () ¥R (d)

44, TrfafEd § § HH-H 95u6 16 TRidew §9 9 iR Aeifies fafafy o aRomeesy SH 9 3ae
& At 8 ?
(1) FARGR FHEA (2) TEeH SATRIES
(3) Hiem (4) HIEA SEHTFIES

45. frafafed =i oAl § FH-T1 S qaferor & forw o o Fd ¢ 2
1) T (2) R (3) ELTAS (4) TEEHSH

46. YA H 3= f¥nen & @ Fefafeq d A A A €2
(a) e
(b) E=A
(c) T ey

(d) e

(e) T A e

(f) eIfard v qua fan

1= fu U e § F HE SW T ¢

(1) e (a), (b) 3R () 2 (@) (), (e) IR ()

() (@), (b), (©), (d) W (o) @ (@), (®) ©) (@), (&) 3 (f)

47. TEF Hieteh Jiiehor g (TH.3TE. SR U, ) o 3TER fefafed § @ ford <9 8, qd9ms sia
(2017) T T Tt g ?

(1) Toier g=y, food (2) U WEHH Hiad, food
(3) e s, o (4)  FRRIST e, FT
wooo [[NIIHIDIDACAERRTY = rir.
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48. Which of the following universities has received the Visitor's Award for the best Central
University in India in Feb. 2017 ?

(1) Jawaharlal Nehru University (2) Banaras Hindu University
(3) Tezpur University (4)  University of Hyderabad

49. Who among the following can be removed by the President without Parliament’s
resolution ?

(1) Judge of a High Court (2) Governor of a State

(3) Chief Election Commissioner (4) Comptroller and Auditor - General

50. Which of the following come(s) within the ambit of the term ‘corruption” ?
(a) Misuse of official position

(b) Deviation from rules, laws and norms
(c) Non-action when action is required
(d) Harm to public good

Select the correct answer from the code given below :

(1) (a) only (2) (a) and (b) only
(3) (), (b) and (d) 4) (@), (b), (c) and (d)
-o00o0-
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48. fr=fafaa favafaememl & 9 fF9 ®E’t 2017 # w69 d=a favafaemem & fau s

(fafs/eX) =1 qTEhr 9w gafl ?
(1) et Je& favafomme™ (2) = RE feg forvafemme™

() auqY fogefarme 4) TER fovafamme

49. Trfafed # 9 f58 Hug & Wed y&E & o1 Tgufd gR1 g2 S 9ehdl & 2

(1) T AT h1 =T (2) TSF I T

(3) Y& A K (4) T iR weeEn Wi
50. frfafed & & sH-91 ‘ yeER’ ves # aRkfy § o § 2

(a) HEHR TS T GEUAN

(b) T, T SR ARl 9 foee

(c) 9 FHIETE SAEeH B dl HRATS T HTA

(d) e HUfd &l A

= feu T e H & wE IR A ¢

(1) F5 (a) () F (@) S (b)

(3) (@) (b) ¥R (d) 4 (@), (b), (© R (d)

o0o
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Space For Rough Work
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